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sewflzd / MATHEMATICS

(50D wHmIDd hiFle euydl / Tamil & English Version)

Cmwiribd : 3 waewfl ] [ Quorgs wHibuaser : 200

Time Allowed : 3 Hours ] . [Maximum Marks : 200

SiNleyenrser : (1) simearsg elamss@pn slursl udeundl o aTargT eTeTLSmeTE
sfluriggs Qamareran. HFsiiLfeller GapulmLnder, iemms
sararentiiiumeTilb 2 L anguinss Cgheilsse,b.

(2 Beod oeg sauy owulmer WLLHGEWL WEeISHGD
2lg &Gy (HeugHEd LweTL(hGs Gouenr(Hb. LILBISET cuareUsnN &
Gluerdled LweL(SSe]b.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack, of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

UGS - 3 / PART - A
GOy : () Slevesgl ellamss@ps@n el wefllsseb. 40x1=40
(i) OsrGésiulL msnE elloLsaia Baseab gy efan_ufener
Complls®sz GO GLer dlamamanyb GCerss Tpss.

Note : (i)  All questions are compulsory.

(i) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.
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1. dr+xdy=e~Ysectydy -@eér Qamenss snyewt :

1) e* (2) e™* @) e¥ (4) e™
The integrating factor of dx +xdy=e ¥ sec?y dy is :
(1) e* (2) e7* (3) &Y (4) e7Y

2. z; wLHML  z, e  SOUAUETEERSG NaTeU(HeuTEIDDIET TS
SITES(peTeTEne ? :
(1) z<z (2) z>2 @) z 2z (4) z#2
If z; and 2, are complex numbers then which of the following is meaningful ?
(1) z;<2z, 2 z,>z (B z =2 (4) z# 2
- (—) —->) - (—> —)) —) (—) —9) =y
3. ax\bxc/+bx\cxal/+cxlaxb/=xxy GI'GOﬂGU

. !

M ¥=0
@ y=0

- -
(3) . x-b y-1b @evemTIm@LD

- - . - - . - _‘—9 . ‘ ‘
(4) x=0 Sjvag y=0 Sdag X -1b ¥ -1b GerarTmELd

axlx 4 ox(Txa)s Ixlaxp)=3
If ax\bxc/+bxlcxal/+cxlaxb —xXJ then :
1 Y=o
—_

@  y=0

) -
(3) x and y are parallel

- - - = 30 -
x=0 or y=0 or x and y are parallel

(4)
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NG Qgrn_rraceﬂu_lrrem auenaTeuanyuildd @ flayls LS (HHS) @aﬁ]mu uGHwrs
wrHmID Lyeref

(1) Quesw yeraf ) Ao yered
(3) euenarey IHMICI LieTe 4)  wryBaal Lerefl

'_l"he point that separates the convex part of a continuous curve from the concave part
is:

(1)  the maximum point N A

the minimum point
(3) the inflection point (4)

critical point

gpem wrdlseflcd. Benps epenm) (‘éy_r;rﬂu.; gwemnim(h&etla p(A) =p(AB) =1 erafled
Qam@LiLTerg) :

1) @Cr gm ey Quwrﬂ@&@m

(2) @@ sweaTur®H&eTTS WIMD. (Bm@m) Grcmmﬂaaema;mg)g) ;fr’,rrmasm
Qup @ ‘ e ,
(B) e swerrLrs wrmib. Cogbd eraraismswupn Sreyser QumdmséEn
(4) @RS DS

In the system of 3 linear equations with three unknowns, p(A)=p(AB)=1 then the
system :

(1) has unique solution

(2) reduces to 2 equations and has infinitely many solutions

(3) reduces to a single equation and has infinitely inany solutions
(4) is inconsistent

f(x)=c0552- eremm srm9n [, 3w] Gé Grmedla Capmsdemiy Siamnhs ‘c G
&l

T 3w
1y O (2) 2w ' (3) o 4 —

' The value of ‘c’ in Rolle’s Theorem for the function f( x)““”% on [, 3] is :

1) 0 2) 2w (3) % | 4 =

8573
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2 )
72 % - %2_ =1 arem Sifuyaimenuddar Sgdrer TCH@ID P yerefudedmba)
GNwsHnE Qe Cuuyerar Asrmeaysafer AsHwrad 24 mg)g,um WS
Qsrerasssey 2 erafe Sifurelaerusfen soatUT :

2 2
X 1 2 2
e  __-Y 4
- 144 432 432 144
2 2 :
- x y© - x2 y?
® 1 1243 @ o5 2!
. 2 2
The difference between the focal distances of any point on the hyperbola *_ — L
a2 b2
i 24 and the eccentricity is 2. Then the equation of the hyperbola is :
2 2 .o 2 2
x
(1) et @ Sl Yoy
144 432 432 144
2 2 . 2 2
x Yy X L
) = - =1 S =
O A W 25 2!

8. 1+e_ie

1+eie

(1) cosB+isind (2) cosb—isind (3) sin®—1icos6 | (4) sin®+icosd

1+e718
1+el®

(1) cos6+isind (2) cosb—isind (3) sinb—icosh (4) sin®+icosh

9. Spssameupbled eranar R -@éd mrapmliLE Qswelser :

(@) a*b=min {a, b} (b) a*b=max {a, b} (c) a*b=a (d) a*b=b
(1) S@ar5gid ) (@) (b) wppid (c)

(3)  (b). () pmid (d) 4 (@ ()

Which of the following are binary operation on R ?

(a) a*b=min {a, b} (b) a*b=max {a, b} (c) a*b=a (d) a*b=b
(1) all (2) (a), (b) and (c) .

3) () (c) and (d) @ @@
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10. Is'm4xdx -@e L
0
3w NGB , 3w
O I @00 3 0 @ 3
The value of |sin?xdxis:
0
3 3 | v - 3w
1 35 | (00— B) O | (4, 50%
11, (Zg, +o) -@& [7] -@ein cuilens :
M 9 (2) 6 B 3 4 1
The order of [7] in (Zg, +¢) is: .
1) 9 2 6 G) 3 @ 1

L

12, [e 4] eremmm selIQLeTanfler (B 6iFaH @mm(‘éu.l ]

T —a —3m
M €5 @2 &, == @) € = @) )

i

The modulus and amplitude of the complex number [e 4 } are respectively :

9 - —3m | =31
o <3 @ <5 e ST @ S
B| : | | [ Hgpliys / Turn over
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L2 2 ,
13. y=mx+c eramp Qgr@Csr@ LOHILD ié__y_z =1 T SFLFeImETWILD

a® b
Qeundler QgrLiyeraf :
2 12
am® b* a’m b2
(1) ( c ' ¢ ) (2) (—‘C"‘—; ?J
a2 12 AT\
®) [amﬁl) M)[amfﬁJ
o c c , c c
[ | e '
. 2 2
The point of contact of the tangent y=mx +c and the hyperbola x_z_ - ’y—z =1 1is:
a b
2 12 ‘
am E_ a2 b2
@ [c'cJ @)LT7TL
—a’m —sz ‘ (—am2 —-—sz
3 ) — —_—
(3) ( - L (4) e\ e

14. y=2x, x=0 wpmw x=2 QapdlnE QoLCu ghu®bd urly x- SFms
QurmisgE spopiuGL HtQurmelar euenariLFriy :

(1) 85w (2) 25w . B B 4 45w

The surface area of the solid of revoluuon of the regmn bounded by y=2x, x=0 and
x=2 about x-axis is :

O 8Bx @ 25 ®) B @ 45

15. E(X+0)=8, E(X-c)=12 erafléd c -@ein o :

M) -2 (2) 4 i @ -4 . @ 2
Given E(X+c)=8 and E(X—c)=12 then the value of c is :
wm -2 2 4 i 3) -4 4 2
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16. @ urlevren ugeueller P(X=2)=P(X=3) erafled LamLIeTama A -@la gl :

(1) 6 2 2 @) 3 4 0
In a Poisson distribution if P(X=2)=P(X=3) then the value of its parameter \ is :

1) 6 2 2 3) 3 4 0

00

17. j.xs e ¥ dx=

0
|6 6 15 ‘ |5
M 4 @ 5 e 5 @ 5
jxs e dx =
0
6 l6 | 15, 15
iy @ 5 Bl 46 @ o4
4 . (azcz—bz) .
18. a=cosa—isina b=cosp—isinB c=cosy—isiny etafled \" = " / erepnuig) :
abc
(1) cos2(a—P+y)+isin2(a—B+v) (2) —2cos(a—P +_v)
(3) —2isin(a—B+y) (4 2cos(a—B+v)
| 2 2 @
If a=cosa—i sina b=cosp—isinB c=cosy—isiny then (iiL) is :
abc
(1) cos2(a—PB+v)+isin2(a—B+) (2) —2cos(a—P+v)
3) —2isin(a—B+Y) (4) 2 cos(a—B+vy)

19. <@g el IGer euflens n, k # 0 s wrledl erafled adj(kl) =

1) k" (adj]) (2) k(adjI)

3) k2 (adj (D) @ kl(dj])

If I is the unit matrix of order n, where k # 0 is a constant, then adj(kI) =
1) k" (adj ) 2 k(d)

(3) k> (adj (D)) 4) k"1 (adjI)

[ Simiys / Turn over

http://www.trbtnpsc.com/2014/12/plus-two-12th-old-public-exam-govt.html

Scanned by CamScanner



8573

20.

www.Padasalai.Net www.TrbTnpsc.com

RO Us®LOW 5 wap IabLECUTE, 1 9idag 2 Haliug QeupdQuiar
s@3ULGANG crafled QeupPufler sTmEMulan i :

5 3 5 9
M 3 @ 3 © 3 @ 3
In 5 throws of a die, getting 1 or 2 is a success. The mean number of successes is :
oy D 3 ' 5 9 -
@ 3 @ 3 ; ®) 5 4 3
o oo

21.

22,

a,b,c saer Aave QausLigarms Qarar. @Gy Camik@@mLWITS PETD)

Yeeflaer aufle Qeiaitd sersHdr Siear olwe oidors QasLi soELTE :

e e e e e , -
1) [r—a b—a c—a]=0 ) [r Z l_))}=0
e ; - -
3) [r b c]=0 K (4) [a b ?}=0
The non-parametric vector equation of a plane passing through three non-collinear
. 3
points whose position vectors are a,b,c is:
e T Y e )
1) [r—a b—a c—a]=0 () [r a b]=0
- - > - =2 >
@ (7% o @ (37 o
d2y Y

o7 +x=|y+ .Sx_ GT G cumsSap Fwatumger aiflens wHmD Lig :
1
1 21 (2 1,2 (3) 2, ) 4 2,2
: : . dxy dy
The order and degree of the differential equation —5 tx =,y + 4 are :
o dx X

1 21 @ L2 e @) 2

N | =

@ 2,2
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: @@ UwEHlwwpm QeusLrraea)n, m NG %},éceﬂu.JLDﬁ)g) @m&uﬁ\eﬂu_lrrésm@
Qe ma BTG @G QeusLit erafl :
(1) m==x1 2 a=|m| (6) Eer @) a=1

% . . .
If a is a non-zero vector and m is a non-zero scalar then ma is a unit vector if :

(1) m==1 @) a=|m| 3). =I—r}1_l @ a=1

X @@ gasﬂﬁemm goeumiiy wrdl erafed &@asasrrmrummasaﬂm T &rﬂmrrﬁmg)] ?

(1) 0<F@<1 | (@) F(=)=0;F(=) <1
(3) PX=x]=F(r,)—F(x,_;) (4) F(x) @@ wrledl smiy |
If X is a discrete random variable then which of the following is correct ?
(1) 0<F@x<1 (2) F(—o)=0;F() <1
(3) P[X=x,]=F(x,)—F(x,_1) (4) F(x) is a constant function
1 ' .
A=|2| eraflé AAT @)est SrLD HTENTS.
3
¥ 3 (2 0 Q) 1 4 2
| 1
If A=|2|, then the rank of AAT is:
3
(1) 3 2) 0 3 1 4) 2

ssafld * eremn FHDILILE Qswed arb=a+b—ab eren cuanTLMESILHEDS
erafléd 3#(4x5) -@edr LS

1) 25 2) 15 (3) 10 4) 5

In the set of integers with operation * defined by asb=a+b—ab, the value of 3x(4%5)
is:

(1) 25 2) 15 @) 10 (4) 5

8573
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27. 28 @an 11 -p1d Lgepe F5NAH0 Qe Garymwiors 28 @er sseldsL
Gepewis Gurey L smeh,

@

1
28

1
@ 17 3) 11 (4) 28

'll‘he percentage error in the 11t root of the number 28 is approximately
times the percentage error in 28.

(1)

L
28

1
@ 3 ¢ 11 4) 28

28.  4x+2y=c eréhp Qa;rr@ y2=16x 66 Lreuenarwsdler QasrGCsm@ erefler c Qe

Y
(1) .—1 (2) 2 e B) 4 (4 -4
The line 4x+2y=cis a tangent to the parabola y2=16x then c is :
1 -1 2 -2 3) 4 | 4 -4
29. g)—lie;mg)_@g?ma; flugeuemerusfen wpeeamuden W Cgrenevasar :
(4, 4), (-4, -4) @ 28, (-2 -8
(3) (40),(-4,0 ' 4) (0. (-80)
The co-ordinate of the vertices of the rectangular hyperbola xy=16 a.re :
0 ), (-4, ~a) @ @39, (-2 -5 |
() (40),(-40 @) @0, (=80

30. x2+y2+22—6x+8y—10z+1=0 eram Cararsdlen entowitd L LD :

¢ (=3, 4, -5), fl9 .(2) (=6,8,-10),1 3) @3, -4, 5), 7 (4) (6 —8,10),7
e centre and radius of the sphere given by x2+y2+22—6x+8y—102+1 =0 is" ’

(1) (-3,4, -5),49 (2 (=6,8 -10),1 (3) (3, —4, 5), 7 4) (6 ’—8,-10) 7

(1)

a I _a . .
31. y=3e* LOHMID Y=3& 7 ear@id euemareuamyser Qs @Gssrs Qeul_ig &

Cararélemen crafe ‘a” @)er iy .

(1)

-1

-1

PGS ‘ 1
(2) 1 @ 3 4 3
The value of ‘a’ so that th Zoaar — B —n.
atthe curves y = 3e¥ and y = Ee * intersect orthogonally is :
2 1 1
) G 3 4) 3

(1)
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yereflsar (0, 0), (3, 0) whmb (3, 3) csgl,eﬁu_lm,ri;mﬂ) el Lerelserss Qaraim
wiGsreger LTl 1- SiFms Aurgsgs sOPLUED HlGurmeldan ser
SETEY

(1) 18« 2 2w . (3) 36w (4) 9m

The volume generated by rotating the triangle with vertices at (0, 0), (3, 0) and (3, 3)
about x-axis is : :

(1) 18w @) 2w (3) 36w (4) 9w

. 2 [ w2 —>) —>(—.> —>)
2,1, —1) era Ljeartl eUITSE|LD, SemiGaT r-( i1+3j—k)=0; r-{j+2k)=0
Qeul’ 1.6 Qsmetend CarliemL o dran_sHwglorer Sendslen swerun( :
(1) x+4y—-z=0 (2) x+9y+11z=0 (3) 2x+y—z+5=0(4) 2x-y+z=0

The equation of the plane passing through the point(2, 1, —1) and the line of intersection
| ol .—>) - (= —*) .
of the planes r-(1+3] —k )=0 and r-(j+2k =0is:

(1) x+4y—z=0 (2) x+9y+11z=0 (3) 2x+y—z+5=0(4) 2x—y+z=0

\GemeumeuaeuDmIET argl Guwiemwwngd ?

M pva 2 prq @ pv(Ep 4 pr(-p)
Which of the following is a tautology ?

(1) pvq 2) pAq , 3) pv(~p) 4) pa(~p)

L Geuamigit eperm prisailey MBS epeTm G(r_r;rﬂl.u a&ml_!lgg',g,rrm
gwearur’ (s CsmElniad A=0 HmD A,=0, A= 0, A,= 0 erafl@, QamE@UUSGSTeT
gire] : X
1) gCr em Siey 2 Qraw( Steyser
@) eramaflsmsupp Steysdr  (4) §ita] @eamenLd

In a system of 3 linear non-homogeneous equation with three unknowns, if _A=0 and
A.=0, Ay¢ 0, A,=0 then the system has :

(1) unique solution (2) two solutions

(3) infinitely many solutions (4) no solutions
[ SigpLiys / Turn over
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36. |a + bl=|a — b| erafled,
1) a -bb-i @ eemu@GL 2 a -bDb -ib Qs @GSSTGLD
@ |4 = lf,’l | @ oD b @ros CeusLisa
37+ %] = |7 - 3 en,
(1) : is parallel to _b> (2) : is perpendicular to g
@) |a] = l1_3)| ' (4) a and b are unit vectors

37. @0 MG ualéslins Caragdlar saroera 1 QaB3/HMOLD erand
Gopdlenpg). oigear el Lib 10 Qs.8. eren Bm&@w Curg L LD @b

Gousld <y eug) :

1) 2 Qe/HALD @ 5 QAL
-11 - A2

(3) 75 QELS/‘@LIS]LLD 4) P @&FLS/JﬂL&LLb

A spherical snowball is melting in such a way that its volume is decreasing at a rate

3 . . . .
1 cm®/min. The rate at which the diameter is decreasing when the diameter is 10 cm
is:

1 _- : 1 .
( ) 50T cm/mm (2) 5—0; Cm/mm
(3) 75t cm/min (4) -7_5—i_ cm/min

38. x tanx @) cuamaui( :
(1)  (x sec?x+tanZx) 2)
(3) xsec?x dx (4)
The differential of x tanx is :
(1) (x secx+ tan2y)
(3) x secr dx

(x secx —tanx)dx

(x sec®x + tanx)dx

(2)  (x sec?x —tanx)dx
(4)  (x secxr+ tanx)dx
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39. y=e¥(A cosy+B siny) erenn QBT A -anwiyth B -eowiyd B&A0 Guptiu@io
uang&E0l&p Fwerur( :

(1) y'+y'=0 ) y'—y'=0 @) Y- +2y=0 (@) y'-2y-2y=0

The differential equation formed by eliminating A and B from the relation
y=e*(A cosx +B sinx) is :

M) y+y=0 @ y-y=0 @ y'-+Wy=0 (@ y'-2'-2=0

40. f(D)=(D—a)g(D), g(a)#0 erafled quans&@a(p soaur(® f(D)y=e™ -@a SpLils

&iray :
eax : ) xeax
1) e (2) g(a) (3) sg@e™ (4) g(a)
The particular integral of the differential equation f(D)y = ed* where f(D) = (D —a) g(D),
g@) =0is:
eax : s . xeax
1 e ® @ @ ge @ Sw
LGS - 9/ PART - B
GOl : ()  stemeuGuignid LSS clamésEnsE elaL ef&Ese, . 10x6=60

(i) efewrm erewr 55 -&@ setrigliuns edeLwellssen. Gp eflerms-
s s TCsmID QTS eSS @SS eden_weflGsa|ib.
Note : (i) Answer any ten questions.

(i) Question No. 55 is compulsory and choose any nine questions from the
remaining.

2 -1 2
5 2] . . oo . Aa0BSOT
] LOMHMILD B_[—l J erafléd (AB)~1=B~1A~1 ram sflunés.

41. A=[7 3

If A=[5 2] and B=[ i #ﬂ then verify that (AB)‘1=B‘1A‘1
7 3 =

B [ HmLiys / Turn over
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14
x—4y+7z=14; 3x+8y—2z=13; 7x—8y+26z=5 TG @) LD gerur®saflen
GsmEliy @@masmmeu o @LWIGT CTEILIGNS gg@mmuﬂ@ T TUIS. R(HEIGELOE
2 eLwgmiler oeupans Siés.

Venfy whether the given system of equations is consistent by using rank method. If it
is consistent, solve them. x—4y+7z=14; 3x+8y—2z=13; 7x—8y +26z= 5

. . s - — A - - — —> a
@) @@ si66T 4i—3j- 2k aaud Howuld@mbs 6i + j —3k eraid
. S o o NSRS, o - > - 3 -
BeoedE 2i-5j+6k, —i+2j—k bLOHOID 2i+7j eren LWIHTS
“ellansseflar QewdUr’iyearmd peigslCubmme sicuelensser Gaibhsg|
Qeyd Ceusmeerws srams.

x—=1 _ y+1 z—4 -

@ = 3 6
‘@mguul'_gés CHIenTd &TeTs.

. ’ e S S S S
(i) The constant forces 2i —5j+6k, —i+2j—k and 2—1? + 77 act on a particle

: -
. which is displaced from position 4? - 37 — 2k to position 6? + ? - 37:.
Find the work done by the force.

(i) Find the angle between the following lines.

y+2

= . and x+1 = .
6 2

AT\ -\ S ST Vo) S - ;
21+ 6]— 7k wpmio 2i—4j+ 3k aT@d CleusLTEeneT Hleney QeusL rasearmas

QamanrL Lematlser wpenmGus A, B, @g;emm E)anam&HELD umaﬂamm N L orss

Q& merorL_ Cﬁasrrmg,gﬁ]m FOETUT(H &
Find the equation of the sphere on the join of the points A and B having position

2 2 g - - -
vectors 27 +6j —7k and 27 —4 j + 3k respectively as a diameter.
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3+i - @ Sreurss Qe x4 — 8x3 4 24x2 —32x+20=0 CTEID FLOGTLITL Iq. 68T
e smens smeirs.
Solve the equation x*—8x3+24x2—32x+20=0 if 3+i is a root.

n erenrg) Wlens (p(p eremr erefled :

1+sinf+icosg\n T o )tis m .
T+sinb—icosp |  \2 +15m“(§"9)ﬁ6ﬂ Bl 955,

If n is a positive integer, prove that :

1+ sinB+icosf 0 ™ T
=Cos n(5—9)+i sin n(E—G)

1+sinf—icos6

f0)= -3 eramaydb x -@ai erébar LAULGERGGD f'(x) < 5 erevayd @ HLiier,
f2) -@en 108 ofla WY eranareuns @ mES (gD ?
Suppose that f(0) = —3 and f'(x) < 5 for all values of x, how large can f(2) possibly be ?

. sin mx
() ALY sTeTs : J}’f‘z oy

@) f(x)=x3—3x+1 eTegd #niiy&@ wrmblae eranger wHMWD HleaeLl
LereflEHenetd &reuss.
. sinwx
lim
x—2 2—x
(i) Find the critical numbers and stationary points of the function f(x)=x>—3x+1

(i) Evaluate:

u

ou ' |
—=(x+ +y) eraor 6.
ax+y8y (x+y) cos (x+y) Hlms

sin~lu=x+y erefled x

; ou ou:i,
If sin—lu=x+y, then prove that T "'L’a_y‘ A (x"'w cos(x+y)

]log(-} - 1)dx -@er WL STETs.
0
= 1
Evaluafe : J.log(; - 1) dx
0
[ g‘,]@uua; / Turn over
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51.

52.

53.

54,

55.
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8éa : (D2+4D+13)y =cos 3x
Solve : (D2+4D+13) y=cos 3x

Glowl @i L euamemenwd Qarart® p — q = (~p) v q eTerd ST(H&.

Use the truth table to show that p—>q=(~p)vq

RO Erran LsLew mass R0 Amarurl @ edaerwr L@ DG
POUGSS LseLufer G 2 eflpbsmd T 20 Qeruepb, usmLulear Gud 4
eflpbsred T 40 Qaruwwd, usmLwlear Guwd 6 eAuppsTe T 30 G
oL Eprr. Ceumy s eraim e (PBSTEILD @eruCor, @uiGur e wirg.
DIQUT @D erdlfumiiiy wrg ? | |

A game is played with a single fair die. A player wins ¥ 20 if a 2 turns up, T 40if a 4
turns up, loses X 30 if a 6 turns up. While he neither wins nor loses if any other face
turns up. Find the expected sum of money he can win.

@0 adflwss’ Qurmallambs) Dol GiEeTaer Fyreurs 20 UL sre
@ Qeuefufed 5 ere 2 Blptu@éng. umievrer uFamaL LWETLHSS
GHUELL 20 Al Qe Qeualluded (i) 2 2 &6 (i) GanHSUL &b 2
2 s Er&sTar Bapssmels &reams. [e=>=0.0067]

Alpha particles are emitted by a radioactive source at an average rate of 5 in a

2.0 mjnu.tes' inte'x.'val. Using Poisson distribution find the probability that there will be
(i) 2 emission (ii) atleast 2 emission in a particular 20 minutes interval, [e =5=0.0067].

(@) @0 Cecdaus HuraumarusHnE cuamrwiiu’ L Qg,rr@@a;m'_Lq_GBT
Qar@Lerefl QsraesCst® Car@s@Esss @i L LTsgglenes @)(m
goorst GfsEn erans sm (. -

S{6060 5|
(b) (PAQ V(1) -E&TW Qi @y Laimeanenil oiainés,

(@) Show that the tangent to a rectangular hyperbola términat d by i - )
bisected at the point of contact. 5 = ed by its asymptotes is

OR
(b) Construct the truth table for (P A Q) v (~1).
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UGS - 8/ PART -C
10x10=100

(i) oflerr eraw 70 -&@ sewrigliuns oL wellEsebn. dp
&l a1 7 & &5 rfl &) (15 16 3 BTN QReOTLIG| 6l T & & (615 & (&
denL_wefll&sab.

Note : (i) Answer any ten questions.

56.

57,

58.

59.

(i) Question No. 70 is compulsory and choose any nine questions from the
remaining.
@@ oL T1, wpmib T 2 whmib T 5 pramukiss e derar. T 100 wHIADE
QDTESLD 30 HIEwTIRISHET 2 @Tare. jeueurmruier ¢euGleum(, euemasuigid 2 erar
BTeRTILIGISGTET 6T aTanilEanaeni &eirs. '

A bag contains 3 types of coins namely ¥ 1,¥ 2 and ¥ 5. There are 30 coins amounting
to ¥ 100 in total. Find the number of coins in each category. -

QeusLir wenpuled Hlmie|s.
cos (A +B)=cosA cosB—sinA sinB
Prove by vector method.

cos(A + B) =cosA cosB —sinA sinB

—2_ 271 i Gamiel o drerLsAugib x;—l = y-2-1= ZJ{I arzy!
CarilgMH@E &) eI Terg) L mar gersden QeusLi wHmbd &STiliedlwien
FLOGTLIT(HSEETE SHTETs.

Find the vector and Cartesian equation of the plane containing the line
XF10 y=1 _z+l

1

=

x—2
2

g

=2 _y=2_271 ;14 parallel to the line

PO+ 25— 1=0 eranm FemUTL®L Si&s.
Solve the equation x?+2%—x*—1=0.

[ Hlpiys / Turn over
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60.

61.

y2=8x+2y—15=0 erém LFQUMETLSEET eniowiganar eoLOWILDTEE

www.Padasalai.Net www.TrbTnpsc.com
18
b, x=—6

reTugmar Gus@Gaamrursald CSTET® &en &l LT eUEaTIISSI & 9|55
wHmb Qeceuswsdar swarlTGsmens srems. Ga)bd LI GU @ eTWILD
aeyeughaTar CeucuGoim HanQS@ET er(s)s. ,

Find the equations of axis and latus rectum of the parabola if

()  the vertex of the parabola is same as the vertex of y2—8x+2y— 15=0

(i) directrix of the parabola is x= —6.

Also write the various stages to draw the parabola.

é("H EQTG)JI_I_I_I L.IlTGU)gug]GDT @G)S]UJ‘QS‘QC;]GD gu’fﬂ @@gg@mn@ 6(H @GU)GWE Ga e

spf umAng. @sdn @wwus QsTaaay 55 5 L aymal LOEED. gienamt

62.

63.

Car@Ens@n @aLtulc B&8n girb 400 aﬂ@surr BUL &6 &

BmEGwreTTad guﬂa;@'m @JGE)GMI‘B;GSSIT@&S@'LD @enL il o"*{;-‘ﬂHSUL—E Sy .

GTETEoT ?

A satellite is travelling around the earth in an elliptical orbit havmg the earth at a focus

1 .
and of eccentricity 5 The shortest distance that the satellite gets to the earth is

400 kms. Find the longest distance that the satellite gets from the earth. =

5x+12y= 9 eranp GriGsTH <HuFeiemenid 12 9y>=9 -85 Qg;rr@:ﬁm@ axaul

Blepilsas. Cogib Qgriib ydreflawwb srars.
Prove that the line 51 +12y =9 touches the hyperbola x>—9 j2 9 and find its point of
contact.

Caugs gL Qegidglwr arei g eursalld t eflanmgsafle) Qedad g
x -g3, x=20t—§’c2 eramm FWwerUTL L med STULGE DG erafled

() GeusgsmL Qegussiiu L. Crrsdd aursagdlear Gougld (#.8/ anf)

(i) oeueursad Csé5 HlandE e gl SL5BS ST S eupenni

&GRS,
The distance x metres travelled by a vehicle in time t seconds after the brakes are applied

is given by x=20t—§t2 . Determine

() the speed of the vehicle (in km/hr) at the instant the brakes are applied.
(ii) the distance the car travelled before it stops.
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. . P 2. . 2 ..
0= 2NE ‘yz‘ TGO FTITLIGS, 9 u _ O%u eraueng SflumTéseab.
y x oxdy  dyox
, 2 2
Verify 07w _ U g the following function u = - — 2L
oxdy  dy ox y? x2

Y=sinx WHMID |y =Cosx TGN GUMETEUMIEET x=0 wHmD x="7 eresiny Caur@ser
A wepmsE Gen Cuiujdrer Triisssdr LTS STEs.

Compute the area between the curve y=sinx and y=cosx and the lines x=0 and x=1r.

ST a 2 MW el L SH6m SHmeTaeis: Sremrs.

Find the perimeter of the circle with radius a.

@ Wwuuy uo@imtiLs Garamen x=—1 arayid Cumrg) QuUBL LI 4 56D
x=1ergib Gumrg fmio w0 ysebd QELifer sCaTamalams srems.

Find the cubic polynomial in ¥ which attains its maximum value 4 and minimum value
0 at x= —1 and 1 respectively.

lzZ|=1 ere@miorm 2 dreT s@OLGUa@TSET Wreyd LBy sard M o as)
soliCuemsatian QLHESO6T S @ GOSMS AMDEGD eras. ST,

Show that the vset‘ M of complex numbers z with the condition‘|z|=1 forms a group
with respect to the operation of multiplication of complex numbers.
@Quablene Leueler Hlapsse| <L s iy

Flx) =k e~ 27 _ o < X < warafled k, p LHMILD 02 -@ar LI STERTS.
Obtain k, p and o2 of the normal distribution thse probability density function is

given by f(x) = k e_2x2+4x —<X< oo

[ &®Lys / Turn over
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70.

(@)

(b)

(b)
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@@ sauQrr_guier CLd LHMIL oy uiler s 6 Qs.i5. WHDD ST
Lss @riusdr 4 A8.5. PED. Fsurm e oésgésiul L
QUTE &M 6T 6ot UI]'L.JLI 384 QELBZ GT &t QJQ)UUJQ]éSGSUULLJTGiJ é{édT Uﬂ'l.JL{
Sy sjere) QSMETEBOND 2 6lar Sor, s REmTS SIS,
S{eVevg)

Qauuuflos 15°C 26 opld owssiur@aar Gsdiller
Qaituflena 100°C BGDL. @i 5 Hflkisalld 60°C 25 GODHS!
@A) Cogid 5 BIOLD 555 Capller QL Haouleaeas srars.
The top and bottom margins of a poster are each 6 cms and the side margins are

each 4 cms. If the‘area of the printed material on the poster is fixed as 384 cms?,
find the dimension-of the poster with the smallest area.

OR

A cup of coffee af temperature 100°C is placed in a room whose temperature is

15°C and it cools t6 60°C in 5 minutes. Find its temperature after a further interval

of 5 minutes.

-00o0-

i
i
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